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One Question with Multiple Solutions and Analysis of Dichotomy
FENG Yanwei
Yiwu Dacheng Middle School

[Abstract] "Dichotomous algorithm" appears frequently in Zhejiang election examination, and has also become
a key content in the teaching of front—line information teachers. In the process of learning the "binary search"
algorithm, most students are familiar with the words of search interval, intermediate value comparison and half
search. They can also tell the idea of the algorithm, but they can't draw inferences from one example when
encountering problem variants. Aiming at this problem, this paper analyzes various variants of "dichotomous
algorithm" by using one problem and multiple solutions, and discusses the program implementation under
different understanding.
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Dim a(l To 15) As Integer, c(41)
As Integer

Dim i As Integer, j As Integer,
key As Integer, m As Integer

" WIthtatiiZl

a(l) =1:a(2) =4:a(@) =7:a4)
=10: a(5) = 13: a(6) = 16

a(7) =19: a(8) =23: a(9) = 26:
a(10) = 28: a(11) = 30

a(12) =33: a(13) =36: a(14) =
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key = Val (Textl. Text)
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i=1:j=40
Do While i <=}
m=(i+j)\2
If key < ¢(m) Then
i=m+1
Elself key > ¢(m) Then
j=m-1
Else
Exit Do
End If
Loop
Do While a(m - 1) = key
m=m-1
Loop
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Text2. Text = Str(100 - 3 * (i -
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